
Page 1 of 4Hitachi Powertools

14.12.2018https://www.hitachi-powertools.de/deutsch/download/explosionszeichnung/explosions...



Nr Ersatzteil EAN Name Anzahl Bemerkung Preis

1 328643 4966375674023 SCHNEIDSCHRAUBE 4 0,88€

2 301944 4966375173106 ARRETIERUNGSSTIFT 1 0,60€

3 339183 4549115106826 GETRIEBEGEHäUSE KPL. G18DBVL1 INCLUD.2,7 15,15€

4 360991 4549115086173 ANKER INNENGEHäUSE SET 1 105,11€

5 337878 4549115086159 ELEKTRONIKEINHEIT (18VSINGLE)1 INCLUD.28 171,42€

6 338867 4549115099449 LAGERBUCHSE G18DBVL / G18DBL1 2,28€

7 301943 4966375173090 ARRETIERSTIFT 1 1,40€

8 316487 4966375278054 SICHERUNGSRING D11 1 1,10€

9 316486 4966375278047 SONDERUNTERLEGSCHEIBE G14DMR1 1,10€

10 328364 4966375670889 ZAHNRAD G14DMR 1 10,80€

11 6001VV 4966375360858 KUGELLAGER 1 4,50€

12 301946 4966375173120 FILZDICHTUNG 1 0,70€

13 301936 SLOTTED HD. SCREW (SEAL LOCK) M4X103

14 328198 4966375670742 GETRIEBEDECKEL G14DMR 1 2,60€

15 307127 4966375203995 VERRIEGELUNGSSCHRAUBE M4X12 M.FEDERRING SELBSTSICHERND4 0,70€

16 328359 4966375670858 SPINDEL M14 G14DMR 1 3,50€

16 328197 SPINDLE M10X1.5 1 FOR CHN

17 301945 4966375173113 STAUBSCHUTZSCHEIBE G12S1/G13YB1 G13V/G13YD1 0,70€

18 308386 4966375213741 KOPFSCHRAUBE M5X16 2 FOR 100MM,115MM 0,70€

18 338868 4549115099456 PLUS SCHRAUBE M5 G18DBVL / G18DBL2 FOR 125MM 0,27€

18 338868 4549115099456 PLUS SCHRAUBE M5 G18DBVL / G18DBL1 FOR TOOLLESS WHEEL GUARD 115MM,125MM0,27€

19 301949 4966375173151 ABLAGEBÜGEL G12SR 1 FOR RUS,CHN,HOL 0,70€

20 331076 4966375713302 SCHUTZHAUBE KPL. G18DBL 1 INCLUD.18,19 100MM TYPE6,88€

20 315492 4966375270201 SCHUTZHAUBE KPL. 1 INCLUD.18,19 115MM TYPE7,20€

20 331766 4966375830382 SCHUTZHAUBE KPL. 1 INCLUD.18,19 125MM TYPE10,10€

20 338579 4549115106925 WERKZEUGLOSE SCHUTZHAUBE 115MM G18DBVL1 INCLUD.18 6,30€

20 333840 4966375884354 WERKZEUGLOSE SCHUTZHAUBE 125MM1 INCLUD.18 13,19€

21 937817Z 4966375447252 SPANNFLANSCH 1 5,70€

21 320497 4966375309512 SPANNFLANSCH 1 FOR CHN 5,10€

22 316820 D. C. WHEELS 100MMX4T A36Q (25 PCS.)1

22 316821 D. C. WHEELS 115MM A36Q (25 PCS.)1

22 316822 D. C. WHEELS 125MM A36Q (25 PCS.)1

23 337329 WHEEL NUT M14 1

23 321795 WHEEL NUT (C) 1 FOR CHN

24 302047 4966375173892 HALBMONDKEIL G12S2/G13SD 1 0,70€

25 314428 4966375261551 SCHIEBEKNOPF 1 0,90€

26 338860 4549115099371 GEHäUSE SET (A+B) G18DBL 1 15,60€

27 337871 4549115086081 GLEITSTAB G18DBVL 1 1,14€

28 329057 4966375679431 DRUCKKNOPFSCHALTER 1 19,38€

29 NAME PLATE 1

30 301653 4966375171270 SCHNEIDSCHRAUBE D 4X20 MIT FLANSCH5 0,57€

31 338869 4549115099463 PIN G18DBVL / G18DBL 1 1,14€

32 338870 4549115099470 FILTER G18DBVL / G18DBL 2 1,18€

33 338871 4549115099487 GUMMIKISSEN (B) G18DBVL / G18DBL2 1,14€

34 336385 4549115053069 BOOSTER PACK 2X BSL1850 (18V, 5,0 AH)2 INCLUD.504 279,00€

Page 2 of 4Hitachi Powertools

14.12.2018https://www.hitachi-powertools.de/deutsch/download/explosionszeichnung/explosions...



Nr Ersatzteil EAN Name Anzahl Bemerkung Preis

34 336265 BATTERY BSL 1850 (CHN) 2 INCLUD.504

501 318312 SIDE HANDLE 1

501 336865 4549115066359 SEITENHANDGRIFF-ANTI-VIBRATION1 FOR VIBRATION-ABSORBING22,80€

502 938332Z WRENCH 1

502 313933 WRENCH 1 FOR CHN

503 CHARGER (MODEL UC 18YFSL) 1

504 329897 4966375690894 AKKUSCHUTZ 1 2,30€

505 337867 CASE 1

506 336471 CASE ASS'Y (STACKABLE) 1 INCLUD.507-509

507 336472 4549115054240 VERRIEGELUNG (HSC) 4 1,50€

508 336473 4549115054257 GRIFF (HSC) 1 5,80€

509 336474 4549115054264 GELENK (HSC) 2 1,30€

510 338872 4549115099494 TIEFZIEHTEIL AKKU-WINKELSCHLEIFER G14/G18DBL G14/G18DBAL/DBVL1 10,40€

601 937826Z WASHER NUT 1

602 937825Z RUBBER PAD 1

603 314051 SANDING DISCS 100MM C-P16 (10 PCS.)1 FOR CHN

604 314052 SANDING DISCS 100MM C-P20 (10 PCS.)1 FOR CHN

605 314053 SANDING DISCS 100MM C-P24 (10 PCS.)1 FOR CHN

606 314054 SANDING DISCS 100MM C-P30 (10 PCS.)1 FOR CHN

607 314055 SANDING DISCS 100MM C-P36 (10 PCS.)1 FOR CHN

608 314056 SANDING DISCS 100MM C-P40 (10 PCS.)1 FOR CHN

609 314057 SANDING DISCS 100MM C-P50 (10 PCS.)1 FOR CHN

610 314058 SANDING DISCS 100MM C-P60 (10 PCS.)1 FOR CHN

611 314059 SANDING DISCS 100MM C-P80 (10 PCS.)1 FOR CHN

612 314060 SANDING DISCS 100MM C-P100 (10 PCS.)1 FOR CHN

613 314061 SANDING DISCS 100MM C-P120 (10 PCS.)1 FOR CHN

614 314095 SANDING DISCS 115MM C-P16 (10 PCS.)1 FOR ITA,RUS

615 314096 SANDING DISCS 115MM C-P20 (10 PCS.)1 FOR ITA,RUS

616 314097 SANDING DISCS 115MM C-P24 (10 PCS.)1 FOR ITA,RUS

617 314098 SANDING DISCS 115MM C-P30 (10 PCS.)1 FOR ITA,RUS

618 314099 SANDING DISCS 115MM C-P36 (10 PCS.)1 FOR ITA,RUS

619 314100 SANDING DISCS 115MM C-P40 (10 PCS.)1 FOR ITA,RUS

620 314101 SANDING DISCS 115MM C-P50 (10 PCS.)1 FOR ITA,RUS

621 314102 SANDING DISCS 115MM C-P60 (10 PCS.)1 FOR ITA,RUS

622 314103 SANDING DISCS 115MM C-P80 (10 PCS.)1 FOR ITA,RUS

623 314104 SANDING DISCS 115MM C-P100 (10 PCS.)1 FOR ITA,RUS

624 314105 SANDING DISCS 115MM C-P120 (10 PCS.)1 FOR ITA,RUS

625 332785 4966375867272 RADSCHUTZ ZUM TRENNEN 115 MM1 FOR ITA,RUS 11,10€

626 314062 SANDING DISCS 125MM C-P16 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

627 314063 SANDING DISCS 125MM C-P20 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

628 314064 SANDING DISCS 125MM C-P24 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

629 314065 SANDING DISCS 125MM C-P30 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

630 314066 SANDING DISCS 125MM C-P36 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

631 314067 SANDING DISCS 125MM C-P40 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

632 314068 SANDING DISCS 125MM C-P50 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

633 314069 SANDING DISCS 125MM C-P60 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

634 314070 SANDING DISCS 125MM C-P80 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

Page 3 of 4Hitachi Powertools

14.12.2018https://www.hitachi-powertools.de/deutsch/download/explosionszeichnung/explosions...



Nr Ersatzteil EAN Name Anzahl Bemerkung Preis

635 314071 SANDING DISCS 125MM C-P100 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

636 314072 SANDING DISCS 125MM C-P120 (10 PCS.)1 EXCEPT FOR CHN,ITA,RUS

637 331094 WHEEL GUARD FOR 100MM CUT-OFF WHEEL1 FOR CHN

638 302098 GUIDE BASE 1 100MM TYPE FOR CHN

639 984646 WHEEL NUT FOR 100MM CUT-OFF WHEEL1 FOR CHN

640 332788 4966375867302 SCHUTZHAUBE ZUM TRENNEN 125 MM1 EXCEPT FOR CHN,ITA,RUS65,90€

641 332787 4966375867296 SCHUTZHAUBE ZUM TRENNEN MIT SOCKEL 125 MM1 EXCEPT FOR CHN,ITA,RUS166,50€

642 339151 WHEEL WASHER 1 FOR ITEM NO.640,641

643 323918 DUST COLLECTION ADAPTER (DISC GRINDER)1 100MM TYPE FOR CHN

644 338497 DUST COLLECTION ADAPTER 1 EXCEPT FOR CHN,ITA,RUS

645 935513 WASHER NUT M10XP1.5 1 100MM TYPE FOR CHN

646 936558Z RUBBER PAD 1 100MM TYPE FOR CHN

647 936548 WASHER 1 100MM TYPE FOR CHN

Page 4 of 4Hitachi Powertools

14.12.2018https://www.hitachi-powertools.de/deutsch/download/explosionszeichnung/explosions...


